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2022 Nutrition Subject Assessment Advice
Overview
Subject assessment advice, based on the 2022 assessment cycle, gives an overview of how students performed in their school and external assessments in relation to the learning requirements, assessment design criteria, and performance standards set out in the relevant subject outline. They provide information and advice regarding the assessment types, the application of the performance standards in school and external assessments, and the quality of student performance.
Teachers should refer to the subject outline for specifications on content and learning requirements, and to the subject operational information for operational matters and key dates.
School Assessment
Teachers can improve the moderation process and the online process by:
ensuring that they are making decisions based on the current subject outline and the current performance standards when assessing their students’ work
providing some evidence to support the grade awarded in tasks, such as a rubric, marking on a SAT or annotations on the student work.
Assessment Type 1: Investigation Folio (30%)
For a 20-credit subject, students conduct one design practical investigation and one investigation with a focus on science as a human endeavour.
When submitting student work online it is important to include the relevant task sheet and highlighted performance standards that correlates with the grade allocated for each task. The development of clear, well-structured, and informative task sheets that allow students to demonstrate knowledge and apply understanding of concepts to real life scenarios is also advised.
Science as a Human Endeavour
Science as a Human Endeavour (SHE) investigations were displayed in several ways including a traditional report structure or an article format. Students selected contemporary topics which were relevant to the Stage 2 Nutrition course.
The more successful responses commonly:
SHE concepts and interaction with society were placed in bold. This made identification of these concepts clear (KA3).
described the interaction between nutrition (science) and society clearly in the Science as a Human Endeavour (SHE) investigation. Higher level students were able to show evidence of this (KA3) throughout their SHE concepts. Many students made an interaction in closing their concept. Better responses went into more depth providing greater detail of the interaction

[image: ]

[image: ]Stage 2 [subject] – 2022 Subject Assessment Advice	Page 1 of 2
Ref: A679916 © SACE Board of South Australia 2018
explored a contemporary nutrition topic in their SHE reports, which were well referenced and clearly linked it to one of the SHE key concepts. The most common SHE key concepts which were discussed included influence and application and limitation (KA3, KA4)
demonstrated a deep understanding of the interaction between science and society using one or two of the SHE key concepts (KA3). Students should be aware that depth of understanding is preferred to breadth.
included research from a variety of credible resources (KA4)
showed knowledge and understanding of nutritional terminology and was able to use this in depth as part of the evidence of the SHE concepts (KA1)
The less successful responses commonly:
lacked clarity around which SHE key concepts they were talking about when discussing the interaction between science and society. (KA4)
lacked evidence of the potential influence that science has on society (KA3)
addressed several SHE concepts superficially rather one or two in depth (KA3)
selected topics that prevented students from providing a depth of understanding of the interaction between science and society (KA3)
provided a report that lacked the research enabling students to demonstrate a deep understanding of the topic and how science and society interacts (KA4)
Design Practical Investigations
Teachers are encouraged to take time at the start of the year to provide guidance and scaffolding for students to be able to successfully analyse and interpret results and apply nutritional theory to their findings, and thus present correct reports.
The more successful responses commonly:
constructed hypothesises using appropriate scientific conventions rather than forms such as: “I guess that X will happen” and used appropriate nutrition terminology to provide valid reasoning (IAE1)
addressed factors that cannot be controlled in the design of the practical, which were then referred to in the analysis in the context of validity (IAE1)
identified a range of valid variables (IAE1)
selected an appropriate independent variable and justified the reasons for choosing specific values to test (IAE1)
described how the dependent variable will be measured and justified their choice (IAE1)
stated the variables to keep constant and explained why this was important (IAE1/KA1)
provided a clear and detailed introduction that used science to outline the purpose of the investigation (KA4 / KA2)
included a detailed and correct list of materials (IAE1)
included a correctly labelled blank data table in the design that demonstrated an understanding of sample size, measurement to be made and representation of data (IAE1, IAE2)
represented the data clearly in appropriate graphs and tables (IAE2)
provided a clear and concise analysis of the data (used the data). 
analysed the data critically; identifying trends and referenced specific data from the table and graphs to form conclusions, rather than simply describing the (IAE3, KA4)
demonstrated their understanding of the difference between systematic and random errors by referring to specific examples in their investigation (IAE4)
commented successfully on link between errors in their investigation and the effect these had on the ‘reliability’ and ‘validity’ of their practical, providing data to support this (IAE4)
The less successful responses commonly:
designed an investigation with a small sample size, resulting in trends that lacked accurate and reliability (IAE1)
represented data in tables and graphs incorrectly (e.g. the unit of measurement), or unconventionally (the labelling of axis and columns) (IAE2)
lacked understanding of both random and systematic errors and how they impacted validity and reliability. Errors were confused and not always valid and, were often generic relating to roles or readings. Students need to be more critical in the evaluation of what errors are and provide more depth of knowledge (IAE4)
used a significant amount of the word limit in the introduction, meaning that they were unable to provide the depth required in the analysis and evaluation sections.
Assessment Type 2: Skills and Assessment Tasks (40%)
For a 20-credit subject, students must complete three skills and application tasks, one which must be a case study. The most common skills and application tasks (excluding the case study) were timed tests completed online and a Food Recall assessment. The skills and applications tasks should be designed to enable students to apply their science inquiry skills and demonstrate knowledge and understanding of key nutrition concepts and learning.
Teachers can elicit more successful responses by:
ensuring that SATS are well-designed and includes some science inquiry skills and Science as a Human Endeavour questions. SATs should feature questions that enable them to demonstrate their understanding across all levels, including instructions such as: identify, describe, explain, analyse, evaluate, discuss (KA1, KA2, KA3, KA4).
The more successful responses commonly:
featured data was collated and represented clearly. Use of tables and or graphs were appropriate including correct labelling and unit or measurement (IAE2)
used data to make a considered and logical diagnosis of a possible diet related disorder. This diagnosis was justified using the data therefore providing knowledge and understanding of the content (KA1, KA2)
articulated why specific macro/micro nutrients in the original and modified diet could have a role in increasing the risk of developing diet related disorders (KA1, KA2)
used sub-headings to clearly demonstrate knowledge and understanding of diet plans and then to justify the modifications to improve the original diet (KA4)
used subject terminology correctly and in the right context (KA4)
answered concisely and to the point showing the ability to communicate scientific information effectively (KA1, KA4)
explored key concepts in their responses to SHE questions as well as identification and analysis of data and trends (KA3, KA4, IAE2)
The less successful responses commonly:
provided lengthy and confused responses to questions, often with more generalised answers (KA1, KA2)
used terminology inaccurately within their answers or when justifying their recommendation in the case study (KA4)
used data inaccurately when drawing and labelling tables and graphs (IAE2)
Operational Advice
Across both Assessment Types for this subject, students can present their responses in oral or multimodal form, where 6 minutes is the equivalent of 1000 words. Students should not speed-up the recording of their videos excessively in an attempt to condense more content into the maximum time limit.
From 2023, if a video is flagged by markers/moderators as impacted by speed, schools will be requested to provide a transcript and markers/moderators will be advised to mark/moderate based on the evidence in the transcript, only considering evidence up to the maximum word limit (e.g. up to 2000 words for AT3).
If the speed of the recording makes the speech incomprehensible, it affects the accuracy of transcriptions and it also impacts the ability of markers/moderators to find evidence of student achievement against the performance standards.
External Assessment
Assessment Type 3: E-Examination (20 credits)
The subject outline indicates that Stage 2 science inquiry skills and nutrition understanding from all Stage 2 Nutrition topics will be assessed in the examination.
It also states that questions will:
include case studies and/or scenarios
involve application of knowledge and skills to different contexts
require analysis and interpretation of data or information.
The electronic exam (e-exam) has a time length of 130-minutes, with a total mark of 100 and was made up of two sections.
Section 1
Question 1
(a)	Most students clearly identified one way the yoghurt was marketed as healthy, such as 0% milk fat or only contains natural ingredients.
(b)	(i)	The more successful responses commonly:
•	provided two distinct answers – one answer for per 100g and another for per serving
•	correctly identified per 100g is used to compare nutritional value of similar foods
•	correctly identified that per serving is also included on labels as not all foods are exactly 100g and can be used to identify if it can fit into a person’s balanced diet.
The less successful responses commonly:
•	only addressed one part of the question (only per 100g or only per serving)
•	provided less specific responses such as “to see what nutrients they were eating.”
(b)	(ii)	The more successful responses commonly:
•	provided two correct answers, such as correctly identifying that:
o	dairy products cannot have a ‘produced on’ date and ‘use by date’ is required
o	the country of origin information was missing
o	the ingredients list was not in descending order.
The less successful responses commonly:
•	only identified one other labelling error
•	did not provide two other errors and repeated the error provided in question, that per serving was missing
•	stated ‘best before date’ instead of ‘use by date’ given that it is a dairy product.
(c)	The more successful responses commonly:
•	correctly stated that displaying the teaspoons of sugar makes it easier to visualise AND explained how knowing this can be beneficial, such as managing diabetes, or stick to reducing sugar in their diet.
The less successful responses commonly:
•	only stated that displaying the teaspoons of sugar makes it easier to visualise and did not explain how knowing this can be beneficial.
(d)	The more successful responses commonly:
•	correctly used the sugar content for their calculation AND used 16.7kJ/g for carbohydrates.
The less successful responses commonly:
•	incorrectly used the total carbohydrate content for their calculation
•	incorrectly used the 17 kJ/g for their calculation (value in old curriculum).
(e)	The more successful responses commonly:
•	used data from Source 3 to support their answer as defined in the question
•	correctly identified the difference in the types of carbohydrates between the two foods (complex and simple)
•	explained that complex carbohydrates take longer to digest or than simple carbohydrates OR that foods high in fibre slow down digestion.
The less successful responses commonly:
•	did not use data in their response
•	only focused on simple sugars and did not mention complex carbohydrates in their answer
•	repeated information from the stem of the question (e.g. slower increase in blood glucose levels), 
•	did not explain that complex carbohydrates take longer to digest or than simple carbohydrates or that foods high in fibre slow down digestion.
Question 2
(a)	(i)	The more successful responses commonly:
•	used the weight from Source 2 and formula from Source 1 to correctly calculate the BMR.
The less successful responses commonly:
•	miscalculated the BMR.
(ii)	The more successful responses commonly:
•	used the data in Source 2 to correctly calculate the total energy balance of -5kJ.
The less successful responses commonly:
•	miscalculated total energy balance
•	did not provide negative (-) symbol in front of the number 5 to indicate a very slight negative energy balance
•	did not calculate total energy expenditure and instead only subtracted energy expenditure from daily activities from the daily energy intake.
(b)	The more successful responses commonly:
•	correctly identified that that -5 kJ was a negligible value, hence Mackenzie would maintain her current weight
•	correctly identified that that -5 kJ was a negative energy balance and Mackenzie could lose a very small amount of her current weight.


The less successful responses commonly:
•	did not use the answer from (a)(ii) to answer part (b); for example, if student made a mistake in part (a)(ii) and obtained a positive energy balance, students did not use this ‘current’ balance and described a negative energy balance and the associated effect(s)
•	did not explain the effect of current energy balance on weight.
(c)	The more successful responses commonly:
•	correctly identified a change in weekly routine (e.g. additional rest day) that would decrease BMR and explained how (less exercise, hence less muscle activity, hence decrease in BMR)
•	explained how the technique makes the farmed fish safer for consumers e.g. vacuum packaging the fish ensure oxygen levels are reduced, slowing bacterial reproduction and ensuring food safety.
The less successful responses commonly:
•	stated one change to weekly routine but did not explain how it would affect BMR
•	did not explain how the identified change in weekly routine would decrease BMR
•	stated a factor that would decrease BMR but did not link to change in weekly routine (e.g. weight loss)
•	did not state a change to weekly routine that would decrease BMR.
(d)	The more successful responses commonly:
•	identified that BMI formula does not take high muscle mass into consideration, which athletes tend to have, or that it does not take the distribution of fat mass in the body into consideration, placing the athlete in the overweight category.
The less successful responses commonly:
•	did not include that a BMI of 27.5 is in the overweight category
•	did not explain a limitation of BMI formula that is relevant for athletes being considered overweight instead of healthy.
Question 3
(a)	The more successful responses commonly:
•	explained that plant-based foods contain soluble fibre that expands in stomach making individuals feeling fuller for longer and preventing overeating
•	explained that plant-based foods contain insoluble fibre, which adds bulk and helps slow down digestion contributing to increased fullness.
The less successful responses commonly:
•	did not make the connection between plant- based foods, fibre and function of fibre to increase fullness
•	did not identify the type of fibre in their answer
•	did not explain how fibre can increase fullness in enough detail to obtain all three marks
•	did not provide relevant explanation of how the specific type of fibre mentioned increases fullness.
(b)	The more successful responses commonly:
•	clearly identified AND discussed situations in which pressure is given for food choices to adhere to the ideals of peers
The less successful responses commonly:
•	did not provide a different type of peer pressure influencing food choice and repeated example of men and plant-based foods due to peer pressure, which was in stem of question
•	did not provide a relevant peer pressure example
•	provided an example of alcohol and peer pressure when the question asked for a food choice
•	discussed social media as another peer pressure example but did not relate their answer to how it affects food choices
•	confused people being offered food with the choice of either accepting or refusing as an example of peer pressure.
(c)	The more successful responses commonly:
•	identified that minced beef has a greater surface area for bacteria to grow on than the beef steak and therefore an increased risk of food poisoning, OR
•	identified that minced beef has been highly processed by machines, increasing the risk of cross contamination when compared to beef steak, OR
•	identified that minced beef would have greater exposure to oxygen, which is required by some microbes to obtain energy for growth and reproduction.
The less successful responses commonly:
•	identified a reason why minced beef has a shorter expiry date but did not explain why
•	stated that minced beef has greater exposure to air and did not specifically mention oxygen.
(d)	The more successful responses commonly:
•	identified two different processing techniques to make insects more palatable, such as grinding into flour, deep-frying, dipped in chocolate, etc.
The less successful responses commonly:
•	did not identify two different processing techniques and repeated the same technique (e.g. grinding into flour to make bread and a cake).
•	did not provide answers relevant to making insects more palatable.
(e)	The more successful responses commonly:
•	provided two different reasons why farming insects are more sustainable than livestock farming AND explained each reason in detail. For example, the farming of insects requires less land and therefore less deforestation is required. Less deforestation results in more available habitats for a variety of species and helps to maintain biodiversity.
The less successful responses commonly:
•	stated two reasons and did not explain either
•	stated two reasons and used the same explanation for both
•	only provided one reason, with or without explanation.
Question 4
(a)	(i)	The more successful responses commonly:
•	stated that the enzyme is salivary amylase (or amylase).
The less successful responses commonly:
•	just stated saliva and did not identify the enzyme in saliva.
(ii)	The more successful responses commonly:
•	identified and stated the letter ‘D’ as the question asked.
The less successful responses commonly:
•	stated an incorrect letter representing an organ other than the stomach.
•	stated ‘stomach’ instead of identifying the corresponding letter as the question asked.
(b)	The more successful responses commonly:
•	stated two different functions of hydrochloric acid in digestion, such as killing pathogens, denaturing proteins, and activating pepsin.
The less successful responses commonly:
•	did not identify two different functions of hydrochloric acid in digestion.
•	provided vague answers such as ‘breaks down protein’ instead of more specific details such as denatures/unfolds proteins to help with their digestion.
(c)	(i)	The more successful responses commonly:
•	clearly stated data from the x and y-axes to support the identified decreasing trend.
The less successful responses commonly:
•	did not use data from Source 2 to support their described trend.
(ii)	The more successful responses commonly:
•	explained how the decreased secretion of HCl in elderly results in decreased protein digestion in the stomach by pepsin and that less amino acids will be available to absorb by the small intestine.
The less successful responses commonly:
•	repeated information in the stem such as decreased HCl secretion results in a” lower absorption of amino acids”
•	did not link decreased HCl to decreased protein digestion
•	did not explain that less amino acids are available to be absorbed by the small intestine.
(d)	(i)	The more successful responses commonly:
•	identified anaemia as an iron deficiency disorder.
The less successful responses commonly:
•	did not state the term ‘anaemia’ in their answer and instead stated ‘iron deficiency.’
(ii)	The more successful responses commonly:
•	explained that iron is required for haemoglobin production and decreased iron would likely result in decreased red blood cell production.
The less successful responses commonly:
•	did not recognise that decreased iron results in decreased red blood cell production
•	did not provide enough explanation in their answer.
Question 5
(a)	(i)	The more successful responses commonly:
•	discussed one way that society has had an impact in accelerating the research and development of semaglutide. For example, correctly explaining that an overweight or obese society influenced the requirement for a drug to be researched and manufactured to assist in weight loss and that the potential profits have pharmaceutical companies investing more money in researching semaglutide for weight loss.
The less successful responses commonly:
•	did not identify that the question asked for the impact of society on science and discussed how semaglutide affects society instead
•	repeated information provided in the Source and stem of the question instead of providing new ideas/theory
•	provided a SHE concept, such as communication and collaboration instead of providing relevant information to answer the question on research and development (or didn’t link back to research and development).


(ii)	The more successful responses commonly:
•	correctly explained a positive impact of the weight loss drug and how that impacts society; for example, reduced cases of obesity in society, decreasing pressure and costs for the health system
•	A relevant unexpected consequence was also identified and explained; for example, that the popularity of the drug could impact supply for type 2 diabetics who rely on it and governments could be forced to stockpile semaglutide.
The less successful responses commonly:
•	repeated information provided in the Source and stem of the question instead of providing new ideas/information
•	did not provide a discussion and instead provided short descriptions
•	discussed weight gain after taking the medication as an unexpected consequence which was repeated from the text and not unexpected
•	provided answers that were not linked back to society, but rather to the individual.
Section 2
Question 6
(a)	The more successful responses commonly:
•	correctly identified whole milk as the dataset with low precision but high accuracy
•	correctly explained that whole milks average was the same as the true value and therefore highly accurate
•	correctly explained that the whole milk dataset has a high range (28mg/100mL) and therefore has low precision
•	used data to support their explanations.
The less successful responses commonly:
•	did not identify the correct type of milk
•	identified two different milks (one for low precision and then another for high accuracy) instead of identifying whole milk
•	did not use data to support their explanations
•	did not explain why a dataset displayed low precision and/or high accuracy
•	confused accuracy and precision.
(b)	(i)	Most students correctly identified skim milk trial 1 as the outlier (43mg/100mL).
(ii)	(1)	and (2) The more successful responses commonly:
•	calculated the average with the outlier removed correctly (134.5mg/100mL) and provided a detailed description that the revised average was closer to the true value of 130mg/100mL than with outlier included in average, increasing accuracy and validity.
The less successful responses commonly:
•	incorrectly calculated the revised average
•	stated that the average increased but they did not describe the effect on the data
•	correctly calculated the revised average but not describe the effect on the dataset correctly or with enough detail.
(c)	(i)	and (ii) The more successful responses commonly:
•	clearly identified the two errors in the graph as the y-axis label missing units and the value for skim milk was incorrectly plotted – the true value was plotted instead of the average.
The less successful responses commonly:
•	did not read the graph correctly to pick up the error in graphing the true value of the skim milk rather than the average
•	referred to units missing on the y-axis label (correct) and the title (incorrect).
(d)	Most students correctly identified a group within the community with appropriate reason; for example, vegans would consume soy milk instead of cow’s milk because they do not consume animal products, which includes cow’s milk.
(e)	The more successful responses commonly:
•	described that a long term reduced bioavailability of calcium is likely to result in calcium being removed from bone stores and this could increase the risk of bone fractures/osteoporosis in the future.
The less successful responses commonly:
•	were less descriptive and only mentioned osteoporosis as a possible consequence
•	did not mention the reduction of calcium stores in bones.
(f)	(i)	Not many students correctly identified that vitamin B12 is found in cow’s milk but not in soy milk.
(ii)	The more successful responses commonly:
•	explained that cardboard blocks light and this prevents the degradation of light-sensitive vitamins.
The less successful responses commonly:
•	did not link their answer to a nutritional benefit
•	did not identify that cardboard blocks light (or clear plastic does not)
•	referred to food safety, rancidity or explained benefits of packaging types rather than the impact of light on nutrient degradation.
Question 7
(a)	The more successful responses commonly:
•	clearly explained an economical benefit in detail; for example, they do not have to pay the increased costs allocated by companies for labour, transport, processing, packaging and labelling etc. and can therefore, be better value for money.
The less successful responses commonly:
•	only described an economic benefit and did not explain the benefit
•	did not provide an economic benefit and instead provided another type of benefit such as environmental
•	only stated that it’s cheaper without providing description or explanation.
(b)	(i)	The more successful responses commonly:
•	clearly explained a nutritional benefit in detail; for example, freshly squeezed orange juice can be squeezed at home using a manual juicer in comparison to a machine that juices oranges and generates heat (higher temperatures). Higher temperatures can destroy heat sensitive vitamins, reducing the nutritional content of the processed juice.
Less successful responses: 
•	only described a nutritional benefit and did not explain it
•	did not provide a nutritional benefit and instead provided another type of benefit such as environmental or economical
•	only stated that home made orange juice does not have any additives without providing an explanation to how that is nutritionally beneficial.
(ii)	The more successful responses commonly:
•	clearly explained a relevant preservation technique in detail; for example, stating that sugar reduces water availability/activity, and explaining that microbes require water to survive/grow reducing their growth and decomposition of food (marmalade).
The less successful responses commonly:
•	only described a preservation technique associated with making marmalade but did not explain why this technique increases shelf life or reduced bacterial growth, etc.
•	did not provide a preservation technique or explain it
•	provided an appropriate preservation technique but explained it incorrectly.
(c)	The more successful responses commonly:
•	clearly identified that dividing large pot of soup into smaller portions with decrease volume in container (increasing surface area for heat to escape) and explained that it would cool down quicker, reducing time of soup in the danger zone; for example, storing in the fridge in one large pot takes longer to cool down and the soup in the middle of the pot stays in the danger zone (5-60C) for a long period of time increasing the risk of bacterial growth/food poisoning.
The less successful responses commonly:
•	did not refer to food safety in the response as required by question; for example, smaller portions are more convenient to reheat.
•	did not identify that dividing large pot of soup into smaller portions reduces volume (or increases surface area) of soup allowing to cool down quicker.
•	mixed up reducing volume and increased surface area when referring to dividing large pot of soup into smaller portions; for example, dividing large pot of soup into smaller portions reduces surface area of soup allowing to cool down quicker.
•	did not explain how separating into smaller containers reduces the amount of time soup is in the danger zone for bacterial growth.
Question 8
(a)	(i)	Most students correctly identified nitrogen as the element in amino acids but not in carbohydrates.
(ii)	Most students correctly identified essential amino acids as the term given to amino acids that the human body cannot make.
(b)	The more successful responses commonly:
•	correctly identified protein as the macronutrient to be limited and discussed one function of proteins in the human body; for example, protein-based hormones are required to communicate messages within multicellular organisms (e.g. insulin to take up glucose).
The less successful responses commonly:
•	did not correctly identify protein as the macronutrient and instead mentioned another macronutrient
•	stated a function but did not discuss the function.
(c)	The more successful responses commonly:
•	provided a specific response that was thoroughly explained; for example, it could influence government bodies to provide further funding into effects of other chemicals on the microbiome such as antidepressants and codeine, etc.
The less successful responses commonly:
•	did not address the question and explain how government or another agency may respond
•	only stated a government or another agencies name
•	described a response instead of explaining - not enough detail was provided in the answer
•	repeated information from the stem of the question and did not provide new information.
Question 9
The more successful responses commonly:
discussed all four dot points in detail, giving themselves the best opportunity to answer the questions properly and obtain the most marks
listed a technique and explained how it was effective in advertising junk food for the first dot point; for example, how YouTube freezes the video to show advertisements exposing adolescents to adverts to finish watching the video
established that healthy habits tend to flow into adulthood, which decreases the risk of future diet related disease for the second dot point
discussed that playing computer games is sedentary and results in a lack of physical exercise and a reduced energy expenditure for the third dot point
identified that consuming excess junk food can lead to weight gain and explained why, such as they are energy dense or are high in sugar/saturated fats.
The less successful responses commonly:
did not discuss the questions and provided less detail than required
listed techniques for the first dot point but did not explain how the technique was effective in advertising junk food
did not link the establishment of healthy habits with a decreased risk of future diet related disease for the second dot point
did not connect a lack of physical exercise to a reduced energy expenditure as part of the answer for the third dot point
identified that consuming excess junk food can lead to weight gain but did not explain why, such as they are energy dense or are high in sugar/saturated fats.
Question 10
The more successful responses commonly:
justified the diagnosis of diverticular disease using multiple sources as evidence e.g. The subject is currently consuming a diet high in salt as seen in Source 2 (e.g. ham, crisps, white bread, pie, gravy). Salt retains water increasing blood volume and in turn blood pressure (Note: this is only one piece of evidence, and three were required)
multiple recommendations identified and explained how each dietary and/or lifestyle change would help manage hypertension (or other dietary disorder identified), (e.g. reducing salt intake by removing ham from the sandwich at lunch.) Ham is high in salt and removing foods like this will help to decrease blood pressure (as explained above). (Note: this is only one recommendation, and two were required)
identified and justified at least three key risk factors. Students who identified and justified more than three risk factors had greater opportunity to obtain more marks. This is because some risk factors were not justified, or not justified in enough detail.
The less successful responses commonly:
identified incorrect diagnosis (e.g. obesity), which limited the opportunity to get full marks as there was less key risk factors to identify and justify related to chosen diet-related disorder
had little information presented in the answer and was very short
sources were not referred to, or evidence from sources were not used to justify key risk factor and diagnosis
only stated risk factors and did not provide evidence or justification using nutrition theory
students just listed many modifications to the current diet in Source 2 to reduce salt intake
appropriate recommendations were given, but no explanation on how it would resolve hypertension were given (e.g. consume less salt).
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